B3y

el | Deow Pt 5
0= s z £
e YO
fy
v
D\‘ \/\/vl\\h, COuatians
Fre =0
(N _
Fege 1l Feasy = Mdy _,f& ~a L
L=
Foss® R = may by + Fsind “Fa:mv a\!:gfl gx: /s

Fuosf) - by =vie FusFsind - =0
Feo- - P e P = sind
Foes ~ e 4l Psie =i
Frost +Fyuesind = Ml-+lleng
(c080-+flesing) = e Jlomg

e +gz_ma 6)() <0
: oSO ) ~es) + Wsinl®) %076 '\’.

2, Solve,\?




a, > 00\(:3_ L UMw pl’ctuoe/ N

\:P 7 SOON FN
Fe= 300N Fe 17
‘J/Fg’
1 Woite. oS
F{\a; =Mq
/"N

Fesx=x Fn«d: My
Fp - F(‘?- M(ly FM“F% ’lmat, aq‘:o@
Fp P =0 Py -.20 =g
3. Solve
F‘) F(‘ -QX

@oo) (ﬁ@ @




Y, W= 103N
\[=ng-3 % 1‘9(3’; [05kg =m

P :UNN |\ D Pittae
iy :\100[c3 F/l\\ M Flugeon
)
@Jm)&
rl.\r]v\\'be e.q,\lﬂt‘bl\s
R B =m0
(Yo Flewtor

Py Y‘\gzma 3.90(ve, T- (/Wm\g = (/‘14-.'0(]
e
T (120 +105) (09 + (300 +155) (D

| -0.8= \WS'A:(X
;



L\'. W\zl\cﬁ l Oiaw  Piepue
1 ;\L\‘\AN e.l‘

). Weike g
E\ce =M

F,\wx =wWhx Fv\eg“ "’er\,
“TsindrTsndzmix 0086 +Taush-mg =l

0=0 s vg=0  Ox20
3 Sl & A4 =0
QTtoséL:ng
CDSQ

omos( )
@A)
O~ ancos A ‘*‘lb -



5. MA "““3, [ Deane Prewoce.

= ANV A 3
2 ;-
|

A b
FW:MA&A. WL
FNA ‘Y"\Aa/lW\AaA ’FNMFNQ —Mgg = Malls
Qu=0)
fa-t=0 Ba-hurge0 e
2. Solve
Fra ‘4“\»,!.‘3r FNG ) FNA :MB&
FNQ MAg. = Mﬁg
e -
g ~ M=l
o =mg



5. M=
e o Piose

=300\ (n
d=Fem= Bim . .
"
Q. Waire QVM((MS
Fc\e&xf- M0k wa,\[ "—‘-MQY

Fs - wiagiaf}= 0 Fu - mqcos =0
@ kﬁ)( - M%S(ﬂe‘: 0 FA/ - mgwge =0 g:(:g
g- SOIVP/ l—;:“kAx
[ \( NX = m&s(n@

et (@) s [0
5= qeesin Leg.)” P 5)(14) ) - 99341



Tow

L D{W pl'er&

£=K3s
AX=105m
Q.(:—W /s
Qx =0
\
\
\
\
Ay \%/
V.
. Wit equations
JAV T %axt& V!lx: Vi Hct V@y = V'.‘l +Clyt
- =0
= Vi(sbt Vﬁx = Wix | ” )
> = ViwsQ Oy=~%dms "2
y U, = I/qsf'rzétg,f;

4. Sslve 2 (X159)0505 Ve, = (@Sl sl

el e Ve REE o

4056

()

N - a 1
(G5~ A198mfs = \/p = WA‘ X Vg1
V- [ (@) + (-0

=28 £Tms



B, V3= 3Gms

A =15m
Oz~ 9s' |

Oue0







0. Ay = =150
aq.,q‘wsl
=0




L Oﬂw P 7
%ibeWb XL
Morarese: Vin &%
po(t‘ce/: o
9. Wrike eppiaponS

Mof{) N?t: PO l l'(ﬂ :

LK = Viat + ot [ =Vigt 5 ot Ve Vet
et o

@ 07
(= lia
3 SO(VO X=X p=X

lgO(b:L - \[imb *\Z(H;g‘

- 0 HVin =0

bin oy
V«lw\
‘. - .bq
C =0
~40 £ 80* - -
tJ—_T - wrg _ 160 - Q4o
i i S

2 (-54)

Vpp =0t
RATD



. (raw p!'wﬂ/

gy,
— e
4 {
g4 1 ' [
 ——— T 1 1 |
! Ittt C 1
3 L I I 24
gl Wbt W
Nstance | [Ixiebtrtctipx]  Ditplaggmene AX:—V%'ZS
3 Selve -
Oisparge= ¥ +0 + 45 @



3 l . Draw P{ctur&

U =10mhe V2250 ¥
— . 4
E=45miA - 4
=%kt t*’?io‘:m
(
Al \rite QU015
AX - JOSRLA%S v't__.___»' Vet
> nr T et | bt
1”7 At Sk ¥Ata '




4.

! O(W Pepure.
D =l0km
‘ <
7<~1‘ Xp O L
Xk Dlem = DEM
D Weike eq)m‘br\s
\A LY W - Yo S - Distonte A by
- at AL M he T at
» ‘5: 0 4—‘)&‘!0’
3% —pps XL w0 M
At ‘
\0pk = %t S50t = 0+ [Xe-D|
A= e 546> [0 - (x -0)
=0 \SAt = qﬂ@—zj\g
) L
A= 5 - 5










